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Front view Back view Diagram showing the order of tatting

Pattern for 12 rings ANKARS Pin

Short hand pattern notation by Nina Libin

Rjngs 1-6: Rings 7-12:
* marks joining picots
7)R: 5+ (toR6) 10 — 10.
DR: 5-10-*10. |
2R 10+ (0D 30— 555520, | 0} R HHORD =3 =520
3)R: 20 + (0 R2) 25. ) R: 20 + (o R8) 25.

4) R: 15 + (to R2 through R3) 20. 10) R: 15 + (to R8 through R9) 20.

, I1) R: 10 + (to R8 through R10 and R9) 10 — 5.
5) R: 10 + (to R2 through R4 and R3) 10 — 5. IR 5 15 ” 5
6)R: 5+ (oR5) 15— 5. JR: S+ @oRID 15 (0R1Y) 5.

Step by step illustrations:

o
W

I)R: 5-10-*10.

Finished Rings 1 and 2

2) R: 10 + (o R1) 30 —* 5 —*5 —*20.
When you reach joining to R1,

place R1 on top of already tatted 10

ds of R2.

Finished Ring 1 Starting Ring 2
from the same point.




After completing Ring 2
start Ring 3) R: 20 + (o R2) 25.
from the same point.

After completing Ring 3

start Ring 4) R: 15 + (to R2 through R3) 20. Work from the same point.

Joining R4 to R2
through R3: ["

After completing Ring 4 start

Finished Rings 1, 2, and 3

When you reach joining to R2,
place already tatted 20 ds of R3
on top of R2.

See joining step by step below.

Finished Rings 1 -4
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Ring 5) R: 10 + (to R2 through R4 and R3) 10 — 5.

Work from the same point.
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Joining RS to R2
through R4 and R3

Finished Rings 1 - 5




After completing Ring 5 start
Ring 6) R: 5 + (oR5) 15 — 5.

Work from the same point.

Finished Rings 1 — 8
Ring 8 repeats Ring 2.

©2012, Rina Stepnaya.

Translated from Russian by Nina Libin.

Test tatting by Stephanie Wilson

After completing Ring 6 start
Ring 7) R: 5 + (o R6) 10 — 10.
Work from the same point.

As you see Ring 7 mirrors Ring 1.

KoABLD 7

Finished Rings 1 -7

Finished Rings 1 - 9
Ring 9 repeats Ring 3.

Finished Rings 1 — 12
Rings 10, 11, and 12 correspond to
Rings 4, 5, and 6.
10) R: 15 + (to R8 through R9) 20.
11) R: 10 + (to R8 through R10 and R9)10 — 5.
12) R: 5 + (oR11) 15 (o R1) 5.



